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WIZARD LSE WD

3,000cc 10.8km/L
2,175kg 310.2

3,000cc 8.1km/L
2,075kg 299.3

CO2
WIZARD LSE CO2

244.8 g-CO2/km
291.2 g-CO2/km

46.4g-CO2/km CO?2
co2

Cco2

CO2
31.3g- CO2/km 2025cc
5334 x 0.91x 31.3(g)x 1 (km/ )
=1520 420 /
1.3




NOXx

NO
PM g/km 1
! 53
2
NOXx
!
PM
PM 0
l
0 50mg/km

Honda Fit
VW Polo
Toyota Prius

5
Lupo,insight 3

Fit: 1,339cc 23km/L ¥1,260,000.
Polo: 1,389cc 22km/L ¥2,100,000.
Prius: 1,496¢cc 28km/L ¥2,180,000.

10 10 km.




Ld

0.5t 6300
-1000 /

L

Prius 1000 1500cc 34500
2.2 5000 /
Fit : 100000/23 = 4350 L 1 8
Polo : 100000/22 = 4450 L 10 4 32
Prius : 100000/28 = 3570 L
101 /L 82 /L H13
Fit: 44
Polo : 36
Prius : 36
g/

Fit: 126 +121 =247
Polo : 210 +117 =327
Prius : 218 +113 =331

CO2 Cco EHC NOx PM

Fit 105 0.67 0.04 0.04) -----
Polo 119 07{ 0.019] 0.428)-----
Prius 83 0.63 0.05 0.05] 0.017

Corolla 131 0.67 0.06 0.06] -----
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